

Solicitation Information

State of Oklahoma, Div. of Capital Assets Mgt., Construction & Properties

Solicitation Number

19353 Pond Renovation

Deadline

07/02/2019 03:00 PM EDT

Advertised

06/28/2019 05:07 PM EDT

Description

19353 Pond Renovation

Bidders

Business Name	Address	Phone
MJM Construction & Application LLC.	P.O. Box 255 Inola, OK 74036	(918) 373-4215
Tulsa Civil Contractors LLC		
Triangle Construction & Utility, LLC		
Meridian Contracting, Inc.		
4 Bidders		

Item	Quantity	Tulsa Civil Co Price	ntractors LLC Extension	Quantity	MJM Constructio	n & Application LLC. Extension	
BID FORM-UNIT PRICE SHEET							
Mobilization LS	1.00	\$25,000.00	\$25,000.00	1.00	\$12,000.00	\$12,000.00	
Drain Existing Pond LS	1.00	\$15,000.00	\$15,000.00	1.00	\$5,000.00	\$5,000.00	
Site Access Road and Removal LS	1.00	\$13,000.00	\$13,000.00	1.00	\$15,000.00	\$15,000.00	
Excavation and Disposal of Pond Bottom and Ditch CY	8,400.00	\$13.00	\$109,200.00	8,400.00	\$20.00	\$168,000.00	
Furnish and Incorporate Bentonite Clay Ton	160.00	\$450.00	\$72,000.00	160.00	\$300.00	\$48,000.00	
Solid Slab Sod SY	2,600.00	\$5.00	\$13,000.00	2,600.00	\$3.00	\$7,800.00	
Site Restoration LS	1.00	\$15,000.00	\$15,000.00	1.00	\$7,000.00	\$7,000.00	
7 Items	Totals:		\$262,200.00			\$262,800.00	

Item	Quantity	Triangle Construc Price	tion & Utility, LLC Extension	Quantity	Meridian Co Price	ontracting, Inc. Extension		
BID FORM-UNIT PRICE SHEET								
Mobilization LS	1.00	\$55,000.00	\$55,000.00	1.00	\$20,500.00	\$20,500.00		
Drain Existing Pond LS	1.00	\$30,000.00	\$30,000.00	1.00	\$25,000.00	\$25,000.00		
Site Access Road and Removal LS	1.00	\$15,000.00	\$15,000.00	1.00	\$15,000.00	\$15,000.00		
Excavation and Disposal of Pond Bottom and Ditch CY	8,400.00	\$30.00	\$252,000.00	8,400.00	\$30.00	\$252,000.00		
Furnish and Incorporate Bentonite Clay Ton	160.00	\$28.00	\$4,480.00	160.00	\$450.00	\$72,000.00		
Solid Slab Sod SY	2,600.00	\$6.00	\$15,600.00	2,600.00	\$5.00	\$13,000.00		
Site Restoration LS	1.00	\$40,000.00	\$40,000.00	1.00	\$17,438.00	\$17,438.00		
7 Items	Totals:		\$412,080.00			\$414,938.00		